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Why is it by a woman, etc. — 9912 TTWNRD 1N

OVERVIEW'

X217 explained that even though all agree that 97y w"a, nevertheless °27 felt that
here X9°7y X1 because we can refute the 7% 7% w" from nwR, by distinguishing
between nwX and 72v. Our M0N0 explains the view of "21.

mooIn anticipates a difficulty:
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Even though that the w'"3 of 7% 7% is 7152, since we know that we derive many
things from this ", so how can there be a refutation —

mooIN responds:
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Nevertheless, since we can ask that there is a difference between nwR) 72¥, we
abandon the "7 because of the wpsr.

SUMMARY
Where there is a wpn to the contrary of the w'"r, the rule of Pawn PRI 717 by a
7191 W't does not apply (according to *27).

THINKING IT OVER
Are the words ‘72’ extra (71912) both by wx and 72v,° or only by one of them?’

!'See ‘Overview’ to the previous ¥"27 1"7 'O,

2 7197 here means that the words (72 77) of the w"T are superfluous, and therefore the rule by a 7191 w"n is that
P2WwWn PRI 217 (it cannot be refuted), as opposed to a w"m which is not 719 (the words are necessary for the
content), where we may refute the w"n, by citing differences between the two cases. See ‘Thinking it over’.

3 This proves that it is a 7197 w"T; otherwise how could we derive these laws since the "7 can be refuted.

4 How can »21 refute this "1 by saying 121 mwx> 7, since it is a 7197 w"T it cannot be refuted for Pwn PRI 07T
(see footnote # 2).

5> Normally by a 7191 w"1a we are 12°wn 7X) P12, however here where there is another option to derive from a wp»,
therefore we prefer to use the wp*i1 and reject the w"n.

¢ See footnote # 2.

7 See 72°n22 71" 2,82 2°¥9 Mo and Awn noma (here).
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